N & 0l & AF & F Al A
20108 =20d sSEHAZEAY ZML ~ SH 2t
A ML

F: XA ZH 243 (&Y - SAIY/2HY
tel: QIR (s3HANELE ) (sSHAZHAL

(e @
SN EHE - S(BH) - MM - BLS 04 &t o8 e RS2

2 Ml 1,974,932 2,674,118 A699, 186
= 1,100,000
= 874,932

NG 285 (& - SAINY/RPALERRA) 1,974,932 2,674,118 A699, 186
= 1,100,000
= 874,932

ERRF(SSHRZY ) (s3HANELAY) 1,974,932 2,674,118 A699, 186
& 1,100,000
= 874,932

Ss3HA 2223 169,220 110,420 58,800

201 Let2EH| 6,020 12,020 26,000

01 AtE22lHl 6,020 12,020 26,000
Os3HX 22 & JIEs1 700,000& *52] 3,500
Os3HX =8 S| 7,000 «3H 1202 2,520

202 O4Hl 8,400 8,400 0

01 SUWAHYI 8,400 8,400 0
OS3HA PR 8,400
—2ZHLH 4 Bl 20,000& x2% x 1203l 4,800
— 22| (4 Hl 60,0003 »2E 302! 3,600

207 A IHEHI 10,000 0 10,000

01 g2E 3| 10,000 0 10,000
Os3HX 2eD2Ha g A2 2,000, 000& *5J4 A 10,000

401 A EHIL 201 144,800 90,000 54,800

01 Al&HI 144,800 90,000 54,800
Os3HX sXZel 8,000, 000 *5H 2 40,000
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SN FHD
=EEBEEVIEE

Aot - SAIIY/RPALENRA)
el OIT RIS (S2ONEA) (S2EXTLAY) (sl @)
SA BB SRA(BH) - HRAY - BES 0l & e Hl =2
OolesatX S2(2H) EX(BEX)E LS 575m 80, 000& 46,000
OxssatU sEAS(2RULS) EA 58,800,000& *14! 58,800
oto| H2=s3HX & SEH=s3HA =4 1,805,712 2,320,000 A514,288
= 1,100,000
= 705,712
401 A &HIL 2048 1,805,712 2,320,000 A514,288
= 1,100,000
= 705,712
01 Al&H| 1,800,317 2,311,678 A511,361
OZESAHAMIS 1,800,317
— Qo M2s 8 fXxd 1,000,000,000& 1,000,000
= 1,000,000
—A=sgd=ssHi A2y =52 70,000,000& 70,000
& 50,000
i 20,000
—XN=2sed=s3HXA EXNHY 337,517,000& 337,517
= 30,000
i 307,517
— X=X AU (2, &8E , Ml S) 392,800, 000& 392,800
= 20,000
= 372,800
03 AIE20bl 5,395 8,322 A2,927
OZE3|H AL 5,395
—otol N=5Y s3HAXEHE 1,498,512,000& +0. 36% 5,395




